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GRAMMAR WORKSHEET P
‘TOO’ and ‘ENOUGH’

With Adjectives and their Opposites

old dangerous long interesting slow
dark healthy easy expensive large
noisy cool near heavy dirty

® Fill in the blanks below to complete the sentences. Use the words in the box.

1. We can’t have a picnic. It's too hot outside. It’s not coo, enough.

2. Tell Sharon to hurry! She’s too . She isn’t fast enough.

3. Kevin can’t drive a car. He’s too young. He isn’t enough.

4. Those apples are too . They aren’t cheap enough.

5. I don’t like that movie. It's too boring. Itisn’t enough.

6. | can’t study here because it's too . Itisn’t quiet enough.

7. The exam was too difficult. It wasn’t enough.

8. Mr. Stewart says flying is too . I’s not safe enough.

9. I don’t like my apartment. It's too small. Itisn’t enough.
10. The room is too . Itisn’t bright enough. | can’t read my book.
11. I'm sorry, but your paragraph is too short. Itisn’t enough.
12. Thomas has to wash his car. It’s too . It's not clean enough.
13. Don’t go to work. You’re too sick. You're not enough.
14. This box is too . Itisn’t light enough. | can't lift it.
15. Jack’s house is too far. It's not enough. We’ll have to drive.
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GRAMMAR WORKSHEET ALL Things Grammar

Grammar Focus 'too’ and ‘enough’ with adjectives and their opposites
Level Intermediate

ANSWER KEY My Notes \\/,
-
1. cool 9. large
2. slow 10. dark
3. old 11. long
4. expensive 12. dirty
5. interesting 13. healthy
6. noisy 14. heavy
7. easy 15. near
8. dangerous
Grades as
percentages
15/15= 100%
14/15= 093
13/15= 87
12/15= 80
11/15= 73
10/15= 67
9/15= 60
8/15= 53
7/15= 47
6/15= 40
5/15= 33
4/15= 27
3/15= 20
2/15= 13
1/15= 7
0/18= 0%
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